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Within the doorway, even if it is not 7"'y7 it requires another
ri> to make it permissible

OVERVIEW

The X713 had a difficulty understanding the &n>72 which stated regarding an
19IPOR that if the door to the *12n is opened the 791P0K is considered as a *"'7"
even if there is no (additional) °ri%, since the ruling is that nns7 730 (which is
where an 790K is situated) requires an additional °1? to permit carrying
from the °"77 to the nno3 70 and vice versa. Seemingly an explanation is
necessary why indeed this 0577 710, which is not 7"v7, requires an additional
n?; for it should be considered as a Mo 23pn. And indeed as MdOIN points
out there are restrictions to this ruling of 17°n77% 91X °n% 7% and otherwise it
does not require a 17°n% IR °17. Our NBOIN discusses why our XnN»92 must
be discussing cases which are included in these restrictions.

MooIn asks:
— (VI X0 97) 1229907 NP P92 Y PIMT NAY 9INRN ON)

And if you will say; according to 829 [in the first =5 of 1°219°» n2on] who

establishes this ruling that 17°n7% 90X °1% 7% 7"v7 PRW 5"VYR MND7T 7N -
— 1‘11)’)1 13913 HN 179 N¥IT OIVN 919955 NN NPT DY

That this ruling is valid only when this 1197 710 (or 791P0K) is exposed to a

nv5»95 because then we say =111 139% DR % RXM but if the 19170K is exposed to

the 1"717 and it is not 7"¥7 then it does not require an additional 17°ni% °n%, therefore -
— *0%29n MYy NINoa XN "o

Let us establish this Xn>12 here (which states %1992 mno nnd) in a case
where the 791P0KX is exposed to the 9''719 and therefore one is permitted to carry
from the 7191P0K into the "7 inside.

" 99921 7 X o Xun literally means that one species found a similar species which caused it to be aroused.
We are discussing a mno7 Tin which does not have 7"v7, and therefore it cannot be considered a n*7n73.
However since it is exposed to a n°7112, we say that this unqualified n°>n13, which is nna 710, found the
qualified n"on73 to which it is exposed and it became aroused that it should also be a n°2115 by joining the
large n°on73 to which it is exposed. [It should be noted that XNk a N°%»73 is a WS DIpPn; they are one
and the same mwA.] Therefore since the nno7 TN becomes a N*7M13 it requires an additional 1°na% on>.
However if it is exposed to a 1"77 there is no 11°» nNX 11 R¥» therefore the nnd7 7N is not considered a
973 (and certainly not a 1"777), but rather a M 01pn and one may carry from the *12n to the o7 .

* See ‘Thinking it over’.
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And even according to 2R there who does not distinguish whether the

7DIP0X is exposed to a n*nas or whether it is exposed to a 2''779; in both

instances the ruling remains that 1°n7% R °n% 7%, nevertheless -
— (v ) 1P2)YT NP P9929 /) N12) NIIPONI PN

Let us establish our Xn>>72 (that 2°19%2 MmN 1n9) in a case where the 2PoN

is three 21190 high, for in the first 95 of 1°2v°¥ noon -
- 595 NOYPON NIYTA IN /4 NOYPON NIYYTA 19507Y 9NN 1Y 79987 NN AN Y9N

»»ax established that this ruling which requires an additional y1°n:1% 1> is
only when the 1237eR is not (four) [three] 219w high, or where there is no

TDIPON at all* in the ninon 70, however when there is an '3 793P0X there is no need for
an additional °n% -
— AN I $NYY 29 DN ININ

So why did 29 answer in a different and unusual manner that it was 7pn 31

77Pn 1K 1°¥m when he could have simply said there was an '3 23 79IP0K or it was MNd
1"77% (according to X27)?!

N1B0IN answers:
— 053959 5123 9993 199N 19 ONT 597 IPINY ¥ K97 91395 W

And one can say; that we could not establish the Xn™M2 in the
aforementioned manner, for if indeed we are discussing "% mIND
(according to X27) or " 23 719IPOR2 (according to X271 M2RX), then even if the
door is shut it should also be 2%15%> (since it is . to carry there).

mooIn responds to an anticipated question:
%5123 DY) 199N 91 IN 7992139 2813 NN 77 N2 NHOTT NN 23 YNINP 1)

And when the X723 stated, ‘and if you will respond that there is no space
of 7"v7’, the X713 could have refuted this answer by saying, if indeed it is so

(that there is no 7"¥7) then even if the door is shut, it is also permitted to carry
there and into the *"7".

® This is amended to read '3 (see 1"mn and 2717 NWY).

* It is only in these cases that an additional *r% is required for since there is no noticeable demarcation to
separate it from the 7"777 there is the concern that one may carry straight out into the 7"i17 (and therefore an
additional °n% is require for this type of nnon 71n). However, if there is an '3 m2x 791p0K, this forms a proper
demarcation line and even if we allow to carry onto the 719170% one will not carry into the 2"77.

> Any area which is '3 723 and is not wide 7"¥7 is a 10D 21PN,

% See ‘Appendix’ for an explanation (and discussion) of this question.
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SUMMARY

The &n>92, which states 7772 w1 nnoY (2°19%5 MIND 1No) cannot be referring
to those m»pox which do not require a 1% IR °n1%, for why is w1 nnd
775 since it a 7w 0PN, therefore it must be discussing either a 79POX
2"77% amnoi (according to X27) or a 9POX which is not '3 Max (according to
»1R). Therefore the &7 rightfully asks that such an 790X requires a >
NN,

THINKING IT OVER

mooIn asked that according to X217 let us establish the nno7 70 that it was
2" mno (where no other °n% is required).’” moown previously® had a
difficulty with the expression Y2 991 nnd since the 79IPOXR is not a 7",
The second answer of MdOIN was that we are discussing an 79170 that is
n°91n75% mino. This answers why &27 did not want to establish this &n*>92 that
it is 1"77% mino for this very same difficulty; what is mso1n question?!’

APPENDIX "

The wpn asked why is the 0°19%5 190K since the rule is % 7% 7Nd7 N
19°n72 nR. The jwpn anticipated the answer of the 1870 that since the 79I1POR
is not 7"v7, therefore it does not require a 7nX °12. The Jwpn who anticipated
this answer assumed that the 7¥7n meant that even if the 79poOX is ™Mo
n°on10% (according to X27) or even if it is not '3 M2 (according to »aR), it
does not require a IR °n? since it is a Mwd 2pn. The wpn therefore
responded, but this is not true for in the aforementioned cases (of mNd
non75% or A M2 PR) a NR 1Y is required. MoOIN question (according to the
X"wAn) is that since the X790 maintains that if 7"v7 12 PX it is [always] a Dpn
7wy, so why did not the jwpn ask, that according to the X0 that it is always
a Mo opn if 7"'v7 12 PR, then why by 211 nno is it considered yIn72.

The X"wAnn asks why should we assume that the 1X7n (when he ‘said” 12 PX
7"v7) meant even if the 79IPOX is N°71725% MIND or 'A 12 PR, it is a MW 2IPn and
therefore the Jwpn could have asked °n1 9wi nno 19°9X; perhaps the %N

7 See footnote # 2.

3"yR "2 (see there footnote # 19).
? See X"w1mn and K 1.

10 See footnote # 6.
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meant only that where the 79IP0X is N°»73% mnd or 3 12 PR it does not
require a °n if Mns nno (only) on account of MW" 71v°2 (as MHOIN mentioned
previously'"), but not because it is a 715 01pn. Therefore the X113 could not
have asked *»1 21 nino 190X, for by 211 ino there is no MW" Y12, Therefore
the X713 asked instead, but according 3"an7 even in such a case a R 1Y is
required 17°n71% (for there is no Mwa 702, The X"wann does not answer this
question.

Others answer the X"w17n and explain N190N as follows.

1. mooIn asks that the Jwpn should have refuted the %70 with a qwa1 ooy, If
the 9IPOX is 7"712 MNo or '3 Max then why is yInkd 2wi nnd and if it is mnd
non75% or '3 MAd WX, then we have the ruling that InX °n% 7°7% 7057 7N
10912

2. When the &3 answered 7"v7 172 n°%7, it was not necessary to refute this
answer by citing 1"217, because (even) if we do not agree with 1"217 and
maintain that 11057 710 does not require a 17°ni72 °n? [in any case], then there
is the question, why by 2w1 ning is it pir22."

yryx gy [See there footnote # 15 & 16.]
12 See 717 7 and wx nnm.
13 See omax om.
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